UPUOESCHGER

MAKITADF 333DSY J

Nr. Artikel Beschreibung

No Article Désignation

1 126233-0 Drehzahlumschalter LEVIER CPL<=125461-4
1 231433-0 Druckfeder4 RESSORT 4

2 183B50-3 HOUSING SET HOUSING SET

2 252126-6 Sechskantmutter M4-7 ***ECROU NYLSTOP HEX M4-7
3 851H36-8 DF331D NAME PLATE DF331D NAME PLATE

4 266429-2 Blechschraube 3x16 VIS 3x16

5 232239-9 Blattfeder RESSORT PLAT

6 456039-5 F/R CHANGE LEVER F/R CHANGE LEVER

7 620463-0 LED CIRCUIT LED CIRCUIT

7 632F42-8 SWITCH UNIT SWITCH UNIT

7 632F65-6 LINE FILTER UNIT LINE FILTER UNIT

8 644813-5 TERMINAL TERMINAL

9 251451-2 Schraube M5x22 VISTETE RONDE M5X22
10 763228-8

11 123503-8 GEAR ASS'Y GEAR ASS'Y

12 629169-7 DC MOTOR DC MOTOR

13 911003-8 Kombi-Schraube M3x6 VIS M3X6

14 183B50-3 HOUSING SET HOUSING SET

14 252126-6 Sechskantmutter M4-7 **¥*¥*ECROU NYLSTOP HEX M4-7
15 688164-6 Filter PASSE-FIL

007-1 | 620625-0 LED CIRCUIT LED CIRCUIT

007-1 | 632F65-6 LINE FILTER UNIT LINE FILTER UNIT

007-1 |632]J76-5 SWITCH UNIT SWITCH UNIT

007-1 |688161-2 Filter PASSE FIL

23.08.2019




MAKITADF 333DSY J

UPUOESCHGER

23.08.2019



